>

@ el ol
PULLS

£%! Feature

o IS8 =0{ol| NEEIE il %u Lict,

o S22 2H (M4 LIAL)-FI(M4 B LIAE) OIS AL
8 UL

© Match with fashionable doors.
 Can be installed on both the front (M4 screw) and rear
(M4 tapping) sides.
o XA mo|z/ A Za|Hstu|d(PVC)
l='EP”|/EE|0H3|| = MXD6
HEAM: 00|/ QEX| - A2
= E|-94| /2B
& 7iH[R-S4717]
SEEquE | 0219 AL Alofl= EE=o| LEAF

AP-194-1-Orange
x|

4
=
2
=t
[=]
0l
L3
=
=
=
-
7
7l

N

== 8
[ ]

Jagl)

|—_,|— =
£ ZFHlsll FHAIL.
° QB RS M4 TAID2] LK HEslof
AP-194-3-Yellow AP-194-T AP-194-) OIX| St LICh N
B .OHJ:1 Hitoz AIRSH= A0|= nRES
g2 23 2x2MAg 71BN S|IMAIZ|I, FHIE 7Y ALO|Of LIALS
countersink E—%}Ei oM SEfB FHAIL.
S8 2 o Z22 UM S EXHIE AMEE W= S22t
== '7'7'7'7'7'7'7'7'7'*”Fal HES AMABHINR.
z I | © Material: Pipe: Hard polyvinyl chloridel
Zajy U ! \ M I: Pipe: Hard pol | chloride(PVC)
P Specifi- Bracket: Polyamide MXD6
o AY L ie]) @ Standard color: Pipe/Orange, yellow
Bracket/Brown
N © Communication appliances, various kinds of cabinets
g A S FENES| @ Prepare other types of screws for other panel
I — W R | thickness than the applicable panel thickness.
Tt s E : \ 2 ® M4 flat countersunk head screws for front
') : F attachment are not attached.
—— 0] i ® For front attachment of the handle, rotate its fitting
s ! o roots by 45° to insert the screws through the openings
‘ T between the screw holes for rear attachment.
OfTAE H ‘ * Be sure to test adequately when using a
¢30 solvent such as thread-locking fluid.
ELPNES]
e Y X 3t of
ALHX| Panel drilling dimensions Example of
UM EE 5 b e s installation
=E] Fiont instaltion, =< 2 49 £= =
or tap
S5 84$7777777777{E§
© ©
= sis P
L& 3= RH ZEE
== Rear installation 2X2-¢p4.5 EIRt Hpe
e 20 (M4 BT LEA} ARR) 20 ‘ Installation
e ooy  (UseMdtappingscrew) L4 90\ M4X30 method
S — A A A A g
= P
e ?
M4 x16
TEUE [AP-194-)) (AP-194-T) a
55 90
10
20_15 15 %—M4 ;)}_3_51@3 10 5 s 40 520 [i‘ﬁ xo”i\*]
" | countersink “ Rear
(Both sides) | 1.
= o +—f+
[fo] 8 | N
o X SEJAl
B ETm - 2 Figeed HEE (S =) gy
x0lE 213 ¢ 30 20 countersin HEHS Rokis| | | 1, | H p Applicable panel ? Y Ic
‘ Product No.  [id e thickness Mg Code
2-M4 3}—8—E‘|é',|3. = | (Rear installation) &
240]0f countersink o — 74* AP-194-1-Orange 01073
| 8 =l 270 75 | 30 |240 5~20 190
i [To) ~
— ‘—I AP_194_1_Y6£%V_¥_ 01074
10930
AP-194-2-
: Or?%% 220| 65 | 20 | 190 10~20 160 ooz
AP-194-2-Yellow 01076
=2
HEZ2(g)| ==
Product No. “|  Mass Code AP-194-3-Orange 01077
=l 170| 55 | 10 | 140 20 115
AP-194-) 33 01149 AP-194-3-Yellow 01078
AP-194-T 55 01148 azo
TAKIGEN —
=316 @®: RoHS10 ti&& @: RoHS10 tHEE A: RoHS100i tHE ZHsELct.

A: RoHS100i tHE7FsEiLICE,

558




